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A mountain in Butler County is eroding and losing elevation at a rate of 5% every millennium. If the current elevation is 1,200 meters, how tall will the mountain be in 9 millennia?
If necessary, round your answer to the nearest whole number.

You have 96 grams of a radioactive kind of tellurium. How much will be left after 3 hours if its half-life is 1 hour?
There is a population of 15,000 bacteria in a colony. If the number of bacteria doubles every 300 minutes, what will the population be 600 minutes from now?
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1.  Find the first 5 terms determined by the following recursion formulas.
     


     a)  						d)  


          			   		     	

b)  

						e)  


          					     

c)  

						f)  


          					     


2.  Find a recursive formula for each of the following sequences.

a)  

					c)  

b)  

				d)  
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The graph of a function f is given. Use the graph to answer the question.
10) Use the graph of  given below to find £(80).

100 Jy

A)40 B) 100 Q) 80 D) 140
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The graph of a function is given. Determine whether the function is increasing, decreasing, or constant on the given
interval.
13) (1,0

A) constant B) decreasing Q) increasing
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The graph of a piecewise «defined function is given. Write a definition for the function.
17)

Ay 7% Hrd<x<0 f-d=x=0
0<xs<3
x  if0<x<3
“L feasxso L itaex<o
Qf={ 2 =x= D)f(x)={2
x  if0<xs3 x  if0<x<3

Suppose the point (2, 4) is on the graph of y " £(x). Find a point on the graph of the given function.

18) y = 36(x)
A) 64 B)(212) Q) @6 D)(.2)
19) The reflection of the graph of y = f(x) across the x-axis
A)(-2,-4) B)(2,4) [oYe) D) (-2,4)
20)y =f(x+1)

464 B@23) (oY) D)(25)
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Indicate whether the function is one <to <one.
41)((6,2), -5,3), (-7, 4), (-9, 5))
A) Yes B) No

42){(7,-5), (-18,-5), (13, 8)}
A) Yes B)No
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Determine the exponential function whose graph is given.
46)

A) fx)=2x B) f(x) =-2x Q) fx)=2x
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Graph the inequality.
69) -3x - 5y =-15
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70) [2x #3756
x-ys3
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Find the nth term and the indicated term of the arithmetic sequence { an} whose initial term, a, and common difference,

d, are given.

76) a1

an
A)ap=-11+9n; ag=115 B)an=-2+9n; ag=61

) an=-11-9n; ag=61 D)ap=-11+9n; ag=61

d=9

% ag=?
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Find the nth term {an} of the geometric sequence. When given, r is the common ratio.
79) 5, 10, 20, 40, 80, ...
A)an=52n B)an=5.20"1 Q) an=a1+20 D)an=5.20
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Graph the piecewise function.

x-1 -8<x<-1
f@)=1 1 -1=x<2
2-x 2<x<7
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Sketch the following functions and state their domain and range:
1. f)=((x+2?2*-3




image17.png
2. f(x)=—lx-3]+1
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5. Let the graph of f(x) be the following:

List the critical points on the graph of the
fanction.

Give the coordinates of the critical points
after the following transformations:

a f()-3

b, fx+1)
fGx-2)+1

—fx+1)
fx-2

o

e a
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Sarahis selling bracelets and earrings to make money for
summer vacation. The bracelets cost $2 and earrings
cost$5. She needs to make at least $500.

+Sarah knows that she will sell more than 50 bracelets.
Graph a'system of inequalities to skiow all

possible combinations of bracelets and

earrings Sarah can make.
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Jasonis buying wings and hot dogs for a party. One
package of wings costs $7. Hot dogs cost $4 per pound.
He must spend less than $40.
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+Jason knows that he will be buying at least 5 pounds of
hotdogs.
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Graph a system of inequalities to show
all possible combinations of hot dogs
and wings that Jason can buy.
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Graph the solution of the following absolute value inequalities:

15) |p[-3<0 16) |m| +5<9
17) [5-8] +10>22 . [x-4| -
5
19) 3+ [n-2|>5 0 JEER s
" [2+3x] o5 22) 8+ |4v-7| 217
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|- Then use transformations of this graph to g

Begin by graphing the standard absolute value function f(x)

given function.
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Begin by graphing the standard quadratic function f(x) = x2 .. Then use transformations of this graph to graph the given
function.

9h(x) =-(x+22+4
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Identify the intervals where the fun
10) Constant

s changing as requested.

A) (3, =) B) (-=,0)
C)(-1,0) D) (-=,-1)or (3, =)

Given functions f and g, perform the indicated operations.
12)f(x)=6-8x,  g(x)=-4x+8
Findf+g
A) -4x+6 B) 2x C) -4x+14

Given functions f and g, perform the indicated operations.
Wix)=4x-9, gX)=7x-3
Findf-g
A)-3x-12 B)3x+6 C)11x- 12

D) -12x+ 14

D)-3x-6
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List the intercepts of the graph.
2)

A)(2,0),(0,2),(0,1), (0, -5)

©) (-2,0), (1,0), (5,0), ©,2)
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Determine whether the relation represents a function. If it is a function, state the domain and range.
6

Bob |———carrots!
Ann peas
Davd——| quesh

A) function
domain: (Bob, Ann, Dave}
range: [carrots, peas, squash}

B) function
domain: {carrots, peas, squash}
range: {Bob, Ann, Dave}

©) not a function

Find the value for the function.

7) Find £(2) when f(x) =/x2 + 8x.
)25 B) 2417 2 D) 642




